
	Answers for  Chapter 3 

	
1)
	What did Dorothy have for breakfast? 
Bread, butter, water and fruit. 
	1	

	2)
	‘her silver shoes tinkling merrily on the hard, yellow road-bed What is the meaning of ‘tinkling’ in this context?
	

	

	X

	


Tick one
                                                                               
splashing
ringing
clinking
dinging 
 
	1



	3)
	Look at line 264, why was Dorothy surprised?
Because the country around her was very pretty and the fields were full of grains and vegetables. 
	1


	4)
	Dorothy was greeted kindly by the Munchkins. List 3 bits of supporting evidence from line 277 onwards
They invited her for supper and to pass the night. Dorothy was waited upon by the right munchkin himself
Boq says it is very kind of you to wear that blue is the colour of the munchkins and white is the witch colour. 
Boq gave her a room to sleep with a pretty bed and she was given a hearty breakfast. 
	3



	5)    
	What two reasons does Boq give for saying Dorothy is sorceress?
Because she wears the silver shoes from the wicked witch she killed and she has white in her frock and only witches and sorceresses wear white. 
	1



	6)
	Put the statements in order from 1-6 the first one has been done for. 

	Statement

	1-5

	Dorothy asks Boq how far it is to the Emerald City
	2

	The scarecrow winks at Dorothy
	4

	Dorothy sees a scarecrow, placed high on a pole
	3

	Dorothy and Toto have lunch
	1

	Dorothy gets the scarecrow down
	5

	His head is stuffed with straw instead of a brains
	6



	1

	7) 
	Explain why ‘Toto did not like this addition to the party at first’. 
Inference: because he didn’t know the scarecrow, he’s protecting Dorothy and the scarecrow is made of straw, this would be strange to Toto. 
	2

	8)
	What is the Scarecrow most afraid of? Why do you think this is?	
He’s most afraid of a lit match. This is because he is made of straw and straw can catch fire easily, therefore it would be the end of him.
	2 marks

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false.
	 
	True 
	False

	Dorothy danced with the munchkins
	
	X

	The munchkin baby played with Toto
	X
	

	The Scarecrow was in a cornfield 
	X
	

	The Scarecrow doesn’t like being stuck with pins
	
	X



	1 mark

	10)
	How do you know that blue is the Munchkins favourite colour? Use evidence to support your answer
[bookmark: _GoBack]They wear blue clothes, their houses are blue. Boq thanks Dorothy for wearing blue and the bed she sleeps in has blue sheets.	
	2

	11)
	Do you agree with the statement: ‘Dorothy is naïve’ Yes/No. Explain your answer with evidence from the text
Yes because she goes into strangers houses, allows a scarecrow to join her on her journey and is going to oz which might be very dangerous. with supporting evidence. 
No because she is clearly able to look after herself, preparing food herself and toto, she asks people questions about where she is going and says if the scarecrow joins her he will be no worse off than he is now. With supporting evidence. 
	3 marks
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